AB: Q502 REVIEW

(The exam will be very similar in format)
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1: Consider the region R bounded by the graphs of y = e, y=In(x-1), Xx=2,and X=4 as
shown by the shaded region above.

A. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the Xaxis.

B. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the Y axis.

C. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line X=16.

D. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line y=16.



2: Consider the region R bounded by the graphs of x=2y’ + y—2and y= Ix
as shown by the dark shaded region above. Consider, also, the region S bounded by the graphs
of X=2y’+y-2, y= Ux ,and X+ Yy =2 as shown by the light shaded region above.

A. Set up, but do not evaluate, an expression involving one or more integrals used to find the

volume of the solid generated when the region R is revolved about the line X=4.

B. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line y=4.

C. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region S is revolved about the line X=4.

D. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region S is revolved about the line y =4.



3 If%z 0.001P(25—P)and P(0)=15...

A. Find the function P(t). Provide a quick sketch.

B. Find the value of P when %is at its greatest.

4: If%:4OP—5P2 and P(0)=3...

A. Find the function P(t).

B. Find the value of % when %is at its greatest.

5: Ifﬂd—z=5—£ and Z(0)=25 ...
Z dt 60

A. Find the function Z(t).
B. Find limZ(t).

t—eo



6. Consider the differential equation % —x o1 y
X

2

Let y = h(X)be the particular solution to the differential equation with h(0) =2.
A. Use a linearization centered at X =0 to approximate h(l).

B. Use Euler’s method, starting at X = 0with two steps of equal size, to approximate h(1).



7. Consider the differential equation % = y*(2x+2)
X

Let y = f(X)be the particular solution to the differential equation with f(0)=-1.
A. Use Euler’s method, starting at X = Qwith two steps of equal size, to approximate f (%) .

B. Find y = f(X), the particular solution to the differential equation with initial condition
f(0)=-1.



